S2019 (1) (E1)

l. Ais B's sister, C is B's mother. D is
C’s father. E is D's mother, then how is
Arelatedio D ?

(A) Daughter
(B) Granddaughter
(C} Grandmaother
(D} Grandfather

I

What is PSLV stands for, which is one of
the satellite launching vehicle of ISRO ?

{A} Payload of Satellite Launch Vehicle
(B) Polar Surface object Launch Vehicle
(C) Polar Satellite Launch Vehicle

(D) None of the above

k. § lf.ﬁ=[:] :],whEﬂ:nEHman"ig

1 0 1 D
@ | n] (B) [n 3
f 0
o™ (D) [' ]
0 1 n ol

4. Manufacturing unit of Hero Honda
Motorcycle is located in which district of
Haryana ?

(A) Palwal
(B) Sirsa
(D) Rewan

A pdimmb c,BpHHR D CHIFER
l Emﬁnﬁ’t. A DR mEEER Y

(A) A
—AB) T
(C) ==t
(D) =T

7. PSLV =179 uaeE =, 9 fF ISRO % Ty
wEgu A 8 ¢
(A) Payload of Satellite Launch Vehicle
(B) Polar Surface object Launch Vehicle
R« Polar Satellite Launch Vehicle
(D) I A # w5 A

3. af h=[:] 1]aﬁnew.#m-!

10 1 ﬂ]

A (B)
™ 1 n] n =i}
‘1 n 1 0

(12}
a L\,ﬂ ]] l.n I]

(A) TerEe
(B) fawn
X wieaw
@
5. i, PereagEiam
(A) § ®) &
o @) #
6. sk A TR EE ?
- 10 (B) I
s o) ¢

‘___-_—‘
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1.

Lk

11.

12.

13,

An ancient temple Bhadrakali is situated in
the district of
(A) Rewari
(C) Mewa

(B} Ambala
(D} Kurukshetra

In which sorting algonthm, every adjacent
pair 15 compared and swapped il they are
not in the right order ?

{A) Bubble Sort
(C) Selection Sort

(B} Linear Sorl
(DY Insertion Soi

Which of the following Environmental
organization has launched the “clean seas”
campaign 7

(A} Ocean conservancy

(B) UN Environmen!

(C) SecaWeb

() Blue ventures

First meter gauge commercial frain ran on
which route !

{A) Delhi - Rohatak

{B) Kurukshetra - Jeend

{C) Delhi — Rewari

(D) Delht - Panipat

The city was founded by Firoz Shah Tughlag
(A) Biwam (B) Hisar
(C) Gurugram (D)) Panipat

FH!‘LE'U'I-[F.':E}Ei+{]]xi}u]+{|_}xi}. E_-

(A) 3P (B} 0

(C) 4p (D) -2P

In & certain language, ‘sun shines brightly’
is written as ‘ba lo sul’, ‘houses are brightly
lit' as ‘kado ula ari ba' and ‘light comes
from sun’ as ‘dopi kup lo nro’, what code-
words are written for *sun’ and “brightly” 7
(A} lo, ba (B) ba,lo

(C) ba,sul (D) sul, lo

7.

12

‘3'

"{M lo, ba

52019 (1) (E1)
qﬁnﬁnﬁﬁiﬂﬂiﬁﬁmﬁﬁﬂﬁﬁﬁ?
(A) G IEA (B3] SHATEA|
©) (D) T
‘Fﬂ?ﬂ Etr]ﬁﬁ-T{ﬂ'l IJ'__rrillli“-liT ﬁ_. IIFEIEF HTHEA TTI
ﬁq&maﬂ'ﬁaﬁﬂﬁd:——ﬁ‘ﬁﬁﬁﬁﬁﬂﬁﬂﬁﬂ
FHATEiR?

(A) HEEE TR (B) ﬁfﬁ‘m
() T TR (D) Fi=E9 THH
Fmﬁ!ﬁaﬁﬁﬁ%nqaﬁmﬁ*mﬁ"m
Hﬂﬁ”:ﬂﬁﬂTﬂ]‘EﬁmE?

{A) ST FEIE!

(B) .04, T

(C) T E

(D) & T,

g T e SEaE E wE § FE A
(A) T - e

iB) ‘—ﬁh’

e Tl -

(D) fegh - o

vt e e & e e T AR

(A) foart B fram

(C) T (D) T
{ﬁﬂi}n;-h{pk]\]xrj+{ﬁai]xi

w TR
(A) 3P
(C) 4p

¥ 3 I i
v FfFr 9ra # ‘sun shines brightly” %1
‘b Jo sul’ F =1 # fermn w0 8, ‘houses are
brightly lit" %1 ‘kado ula ari ba' %9 4 fomn
i & ‘light comes from sun’ F “dopi
kup I8 niro” 3 % H foven st &, 70w v
sun’ 3 ‘brightly’ ¥ fem forg m 2
(B) ba, lo
(D) sul, lo

(B} 0
(D) -2p

{C) ba, sul
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4. Pointing towards a girl in the picture, Sarita

15.

16.

17.

18.

19,

sard “She is the mother of Ncha, whose
lather is my son”, How is Sarita related to
the girl in the picture 7

(A) Mother {(B) Cousin

(C) Aunt {12} MNone of these

Chandrn X Ruy observatory, 15 a fagship-
class spuce telescope of which of the
following space agency 7

Ay NASA

{(B) Roscosmos

(C) ISRO
D} None of the above

Which of the following satellite launch
vehicle (Rocket) of 1ISRO nick named as
Bahubali 7

(A) GSLV Mk III

(B) Scram Jet Engine - TD

(C) RLV-TD

(D) None of the above

In which year did Columbus reached the
Island of West Indies 7

(A} 1520 {B)
(C) 1492 (D)

1556
1498

Structure of Ni(CO), 15
(A) Tetrahedral

(B} Trgonal planar
(C) Square planar
(D) Trgonal pyramidal

E}.rht Ampere-Maxwells equation is given

~do
(A) §Ed= T:E

(B) §M=pﬂi¢+puﬁd%

(©) R
) g_[aEdA o

(D) §BdA=0

4.

15.

16.

17.

g

At 4w wrgeF) R S 0 A e, afy
A o o) ol B, o fom oy

M

A i ey @ AR s B o

{A) HrE (B) == i,
(Cy =T (D) 5% & %5
w1 wa 1 Awamen, Frafafaa § 8 6
siafies v 1 v A A
(A) NASA

B Roscosmos

(C) ISRO

(D) Fwire # & =18 98

ISRO % e wemw o (132 8 8 fy

9T SR f 7

=y GSLV Mk 111

(B) %0 32§34 - TD
(C) RLY-TD
(D) Faraa O | w58

orm ol weEn FegdE 9 A e
(A) 1520, (B) 1556
) 1492 (D) 1498

18.  Ni(CO), it s 2

19.

(A) wREE
(B) E?mfwma
[0y & A

(D) Fgsira forfererem

et - Aaaae gt e g fem =
%7

(A) § Edl=—2

di
(B) #Hﬁﬂ:}lui- + g Eﬂ%ﬁ'

Q
C) §EdA=—
© ¢ .

D) §BdA=0
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20.

21.

What is the mechanical energy E of the
linear oscillator 7 Given imtially, the
Block's position is x = 11 ¢m, speed 1s
v =0 and spring constant k = 65 Nm™'.
(A) 0.791] (B) 0.111]

(C) 0.66) (D) 0391

The Ci#t or Visual Basic compiler converts
your code into a special language namel

(B) MMSL

(A) MISL

(C) MSSL (D) MSIL

In a certain code language, "pen penail’ 15
written as ‘37", ‘eraser sharpener’ is writlen
as ‘@#" and ‘pencil eraser’ is writlen as
“¢@", then what is the code for ‘pen’ ?
(A) @ (B) 7

(C) # (D) %

Choose the word which is least like other
waords in the group.

{A) Tomato (B) Ginger
(C) Carrot (D) Potato
Complete the series,

Wl [ 0 e St W

(A) 31 (B) 33
(C) 27 (Dy 29

If A is a3 % 3 non singular matrix and
|A] =3 then |(2A) | =

| 1
(A) P (B) e
(©) 1'—1 (D) None of these

20.

21.

52019 (1) (E1)
tefta wfer ot i el EEn R T e
ﬁﬁﬁ?ﬁﬁﬁlﬁlxﬂlcm%.ﬂﬁvﬂ]ﬁ
s fr k= 65 Nm ' ® |
Ay 0791 By O.111]

(C) 0.66 ) (o 0391

CH TN TH ST SFITEER AT FE F

v M e i ohafm e
FHAAT B

(A) MISL (B} MMSL

(Cy MSSL (D} MSIL

e Fifgem wfean 8, ‘pen pencil) 1 ST F
= ¥ i § o = 8, ‘eraser sharpener’
o @w FEIH feran wmen ® 3 ‘pencil b
eraser’ ‘5@ ¥ wq ¥ foren 5 2, A
pen’ ¥ oy g MR AR 2

(A) @ 4By ?
) # (D) §
Srfirfiaa & & o8 T2 S0 T & T
T e A e E
(A) ZHIE ) HTE
(C) TR (D) #AE
o 0 =hifa |
1,3,7.13,21, 7
(A) 317 TH) 33
(Cy 27 (D) 29
ﬂﬁh‘ﬁBxEﬂﬁﬂ“ﬁﬂ{rﬁmsingum}m
afw|al=3, M|2Aay! =
| 1
(A) 3 (B) 7
(©) % (D) ¥ @

H
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26. If "Orange’ is called *Butter’. ‘Butier’ is
called *Soap®, *Soap’ is called *Ink’, ‘Ink’
is called ‘Honey" and ‘Honey' is called
‘Orange’, which of the following is used
for washing clothes !

(A)  Souap (B) Ink

(C) Honey (D} Butter

27. Which functions allow us to access a file in
a non-sequential or random mode 7
(A writel) and writelines()
(BY writed) and readi )
(C) seeki) and tell()
(D) readi) and readline()

28, Who was the first Chiel Minister of Haryvana ?
(A) Devilal
(B) Bansilal
(C) Bhagwat Dayal Sharma
(D) Rao Virender Singh

29. Sacchar formula was introduced in which

year ?
(A) 1948 (B) 1949
(C) 1945 (3 1946

M. Which of the following is/are the govemment
scheme (s) for the promotion of sports in

P TR TRR A g
26, af2 “Froft’ w “weEa’ @ A R, ey
W WA w W R, EE W Em
1 TN #, Endl e e b
‘yrea’ &1t e s @, Frefafen b
e it s A & foro o ven o

(A) HEA 2B T

(C) TiEe adD) THIA

27, FW-6 T 6 UF -FHE @ afes
e 3 U el de qgae A sl am g
(A) writel) and writelines()
(B) writel) and read()
(C) seek() and tell()
(D) read() and readline()

28, EfEmm & g gemE #iE 6 7
(A) SETE
(B) wHteme
22T vaq T i
(D) T iz faw

29, o= wer e ol d sy R e

(A) 1948 ™ 1949
(C) 1945 (D) 1946

30.  wfmn @ He & deame F e S meh
A & 7

Haryana ? &
(A) Provide training A = Eﬁ-;m
(B) Build the sports stadium (B) R il
(C) Grant for sports institutes (C) =5 HeHl F AHEH 3
(D) Al of the shove %) it w
31. What is the strength of judges in Punjaband | 31, i S R T e =
Haryana high court ? S 2
(A) 48 (B) 38 (A) 48 - 38
{(C) 68 (D) 58 (C) 68 (D} 58
32, Which of the dance is mainly performed on | 32, Fare aw #f -1 e e f s & 7
the marriage ceremony ? (A) I
(A) Gugga dance ik
dance (B) k CLE [ S
(B) Gangor puja
~ (€) Ghodi dance w& =iE g
(D) Dhamal dance (D) 9T Jeu
H -6-
L,
Ly
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33, In Python which data type 18 unordered and 33, A W wE-E S e Progrfore 3
mutable ? ufrasd # 7
(A) Mapping (B) Tuples (A) A & FEI
(C) Sets (D) Sequence (C) em (D) fows
M, The volume of a Parnllclopiped whose | 34, U8 WHETE St 1 A0 a0 g e
co-terminal edges are the vectors g 2fife it & T dw =24 -k,
= Mz A \ F - S0 1 )
d=2i+j-3kb=i+j+kand c=i-2j+3k I1:|+.i+'1k~'i-ﬂ{ G=i-2i+ kBT
15 -
i ! e fs ] 1“
{A) 42 cubicunits (B) 22 cubic units (A) 42FH il (B) 2Z2¥ SZFI'%
(C} 32 cubic units (D) 12 cubic units (C) 32 94 $HhIEd] (D) 1254 gersdl
35. Ifacurrent loop carrying acurrent L withN | 35, afz v faegm | T, hﬂﬁ | 1 N AT H
turns and area enclosed by the current 15 A, Ao aln ﬁﬂﬁ;{m e R T s AR,
th:n the magnetic dipole moment is given Al sk fegefra i faeer g 41 el 2 7
v
' |
| = .
{A) m=NIA (B) m=ﬁ {A) m=NIA (B} m Ty
N A - o
C = — D i (C) m=— D) m=—
C) m A i m : T NI
36. Choose the pair of words that shows the | 36 ag wree 7 o =1 faw o g gn 2w
same relationship as given by the pair. way &1 feard # |
Cells : Cytology : : o « FifEERTEEE o
(A) Insects : Entomology (A) iz : Fzfmm
{B) Tissues : Morphology (B) i : Wﬂfﬁ‘lﬁﬁ'lﬂ
(C) Diseases : Physiology (C) T ; TR
(D) Worms : Ornithology D 3 ; e
37. When was Seema Aayog formed to decide | 37, #fium SR 271 T2 %41 gan 1, W4 T 30
upon separation of Punjab and Haryana ? Bl =1 3 i w0 Fvla o 7
{A) December 1941 (B) January 1951 (A) TEmE 1941 (B) =El 1951
(C) May 1975 (D) Ociober 1965 (C) % 1975 HAZE 1965
a8, [f the data attribute of the class and the | 38, af2 =71 % == #n fafy ez
method attribute are in same scope, then WA =Ty | ) A g v
the data attribute will be given 1 fw s |
(A) no priority (B) higher priority (A) =8 graftsm = (B) 3= wrufir
(C) equal priority (D) lower priority (C) wae wrafemm (D) Fre wrafien

H

-, ol
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3. Who was the first Speaker of Haryana 39, g EHyE o 5 e 5T e o7
Legislative Assembly 7 «r‘.'m:n 2=
(A) Shanno Devi (B} 'FI_-F'EFI'ﬁTﬂ
{B) Manphool Singh ey 9]
(C) Kuldeep Sharma G L
(D) Eshwar Singh (D) v faw
. Choose the pair of words that shows the | 40, EI? ﬁﬁ?ﬂﬂﬁ'ﬁ,m FEU,‘TUE'HE!TF 9T MY
same relationship as given by the pair, a1 faam 8 |
Scalp : Hair : o <t et ;A
(A) Earth ; Grass (A) JeT ; |
(B} Fur: Cap (B) %2
(C} Home : Cartle (C) T& : 9]
(D) Nail ; Nailpolish (D} AgH :T‘ITq::Iﬂ'ﬂ:r:FﬁT
41. Where is the Haryana Public Service | 41. =fmmm i ST el o 7
Commission located ? x
S TIF B) TER
(A) Panchkula (B} Gurugram [ B
(C) Sonipat (D) Panipat (C) =M (D) It
42. Which one of the following is nota database | 42, Feferfien # & F-a1 w8 =g g
management system 7 ot T R 7
(A) dBASE (B) FoxPro (A) dBASE «B) FoxPro
+C) PostgreS() L. (D) SAK (C) PostgreSQL (D) SAK
43, Lala Lajpat Rai actively participated in the | 43, wi1en st 7 3 w2vlt st 3 Fm
Swadeshi andolan from which distriet 7 | Afe & § o forn o7 7
(A) Hisar (B) Sonipat drter TR (B) Hrma
(C) Rohtak (D) Panipat (C) Tren (D) THEE
44, On which of the following subject both | 44, Fr=fafas © i frafEmy F2ig afn v
Union and State Government can make TR A A T a7
laws ? ‘(
{ ZEEG fere
(A) Concurrent list subject el
(B) Residuary subject (B) R fvg
(C) Union list subject (C) Fefta wsht g
(D) State list subject g (f’}l T gt famm
H 8.
X -
: :
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4.

47.

48.

49,

Which of the following space agencies
mvolved in BepiColombe mission, an
unmanned spacecralt carrying a two probes
into orbit of Mercury ?

(A} ISROand NASA

{B) European and Japan space agencies
(CY NASA and European space agencies
D) MNone of the above

In 1984, which of the following is Haryana's
mast famous film whose song is most
anu]:lr 3
(A) Lado
(C) Dhan Paraya

(B Chandrawal
() Lambardar

Beej Bachao Andolan (save the seed) was
initially started in

{A) West Bengal
{B) Uttarakhand
(C) Bihar

Dy Madhya Pradesh

In Narnaul area which State is bordered
from three sides 7

{A) Punjab

(B) Madhya Pradesh
(C) Rajasthan

(D) Uttar Pradesh

If o means +, p means —, 7 means x,
B means < then 300 10y 5a 0B 2015

(A) 3 By 15
icy 3 (D) 10

A non empty subset H of a group (G, #) 15

said to be a subgroup if

A) HeG

(B} Commutative and associative laws
hold in H

(C) HegGand (H, =) 1S @ group

(D) None of these

45.

47,

49,

L85

50,

5/2019 (1) (E1)
st e firge § Freffion o 8 #-
sheqfrey et e &, U WA A AT
a3 3w ) g A A e 2
(A} ISRO 3R NASA
(B) qﬂﬁﬂ?ﬁﬁmﬁﬁﬁﬁ@?ﬂ
@ NASA it iR i
(1) i § W T T

i wfrmm #1 Had wrwE e
%ﬁﬁﬂm-mm,ﬁﬁmm

yaferd § 7
By TEE

(A) T
(C) A T (D) ==ER

J

o I SR T8 e e g 1

(D) i

Tt 2 3 v s e e 1 i FE
27

(A) TEAE

(B) W= TR

¢&r TIEEH

(D) F e

af o 314 4, [ 3 —, y F 3 x, 0F
5 =M 0010750 10p202
5 (B) 15
(C) 3 D) 10
T BE (G, +) T e I HE, W
TR A ¢, e
(A HCG
) fafm sfmar=d R A2
(C) He G 3l (H, - FaE?
(D) S A= T

H
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SI.  Study the diagram given below to answer

'h';." fl'| I !l\'l."..' | n_ﬂ "'I Tl A TR 4

A

¢ uf_\\n\
S

The triangle in the above figure depicts
women in villages, the square depicts the
unemploved women and the circle depicts
the educated women.

Educated employed women in villages are

represented by
(A) F iB) G
{C) D (D) E
52. In which year Punjab high coun shified 10
Chandigarh ?
(A) 1957 (B) 1958
(C) 1955 (D} 1956
33. Which one of the following is true with

regard 1o Mahayana cult of Buddhism ?
(A) They refer as greater vehicle

(B) Worship of Buddha's image was an
important tradition of this cult

(C) Orginal followers were called lower
vehicle

(D} All the above

54, The district in which should have highest

number of gram sabhas 7
(A) Hisar (B) Gurugram
(C) Karnal (D) Panipat

55. The value of A for which the
system A X+ y+2=0-x+Ly+z=0,
wx-y+1=ﬂhumnhiﬁalinluﬁmis
(A) 3 (B) 0
€) +/3 (D) -3

-110-

SL

54.

RIS
ﬁ:rhﬁaﬁmmméir?ﬁ fere = fom o
TG 1 AT F |

IHIF s § B wiEt § afenst o
Zarien # 1 = Eenm wfgent #5 2t 8
3N 3 farfem wheenat 5t zvfa 2 |

ﬁﬁﬁlﬁm:ﬁaﬁﬁﬁmrﬂamﬁﬂq—maﬁﬁ

AR 7
-rB‘Y‘G

(A) F

<) D iy E
Tﬁnaﬁﬁﬁmﬂmmmﬁm
B 7 s

(A) 1957 1958

(C) 1955 (D) 1956

12 ¥ F ORrEE 99 F w99 § Rl §

dFF-Tag i 7

(A) = 0L I1eT 5 wiie = &

(B) F& 1 3 9 731 38 T i v weayyi
g ot

(C) SR S i =5 awA % w4

=iy T Bl

o forer & 7 & ) e wad wtfi B
=iz 7

o fam ° (B) TE™

(Cy =TT (D) wrraa

§5. 3 1 50 7 A Pk R wrrda ol

1:+y+2=ﬂ.~x+ly+z=:},
—x=y+A=0F sz ?
(A) 3 (B 0O
(C) +/3 (D) -3
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Sl Si.  In damabase, a relstion means o 6. EIETEH T, T IIFITI ——
LAY Tuple (B} Table (AY T (1Y #HE
(C) Domain D) Key Wy B oy R
x 3 7 lx 3 7|
57. HWx=-9snroolol |2 7 | =3, then g7, ofd |2 «x 1\ ) TEHA k= - ,
T K I-I| EI |
Lhe athicr bwio Touts arc & it & - s
1 (A) 2.7 (B) -2,-17 (AY 2.7 (B) 11. 'rT
# () =27 (D) 7.-7 (c)y -2.7 m 2-
. ek
5%. EDTAs ligand. S8, EUT.:"; =2
5 (A
(A0 Hexadermate ] <
T 1 q_ﬂ] H‘Iﬂﬁ 1
{B) Tetradentate g
i
(" Monodentate o _
(D) Bidentate (D) JH =EA -
; gtk W 2
' S s Fafrad wiean ®, SOLID 757 &
EI' g0, In a code language, SOLID is written 4s 59. 1:\.-'P51.P'[!~.-11-‘HA 3 ar ko m
WPSLPIMFHA, What does the code word il e’ it S HEI Iqﬁ‘il:ﬁ‘-.‘t o
(A) EAGER (B) WAFER (A) EAGER (B W.Aﬁ'
. 5 (C) WATER (D) WAGER
(C) WATER (D) WAGER
. ; 60, IR o S o R = #
i 60. Which ofthe following plants is established | - 5% i) (B) T
L ‘ 4t Baholi in Panipat /) - g™ 7T T
{A) Oil refinery (B Emlizfr © dHh | b i
T () Cemen .
{C) Sugar i @;@{G.*ﬁlmﬁ'mq&%wt'
l 61. Intersection of 2 subgroups of a group (A) G it
(G, *=)is j”l Eﬂﬂ
ﬁ (A) asubgroupof G (B) ¥HE e qﬁ:‘”@
{B) gmuphmnmasuhgmupﬂfﬂ (C) G ¥ ITER
| (C) ot a subgroup of G o) ¥ 2w
none of these
@ e e o Foreli 2 7
' e the book Amuktamalyada 1 62.
t GL  Who Wi (A) FEETH
! (A) Samudragupt (B) e
(B Eijlakes ) FEE
(C) Krishnadevarayd (D) =R

(D) Chandragupta
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(il

fid,

65,

68,

IFx +9 x -6, 4 are firsl thiee @lements ol
GP then x is
(A 0,0
(C) 0. 16

(B 16, =16
() <lo, 0

Which s the comvect reason for the outhreak

tor the situation of cold war ?

(AY Invasion on Pearl Harbour by Japan

(B) Emergence of USA and USSR s rival
pPOWErs

{C) Defeat of axis force in the I1 World
War

(D) Bombing on Hiroshima and Nagasaki
by USA

If x — 2, x, x + 3 are firsi three elements of
GP then x is
(A) -6

) 6

(B) &
(D} O

Haryana's historic grand tomb is located
i which district, which 1s associated with
Shekh Chilli 7
(A) Kurukshetra
(C) Nunh

(B} Hansi
(D) Palwal

Whao is the present CEO of PepsiCo ?
(A) Indra Nooyi

(B) Ramon Laguarta

(C) Shantanu Narayen

(D) None of the above

By which Amendment to the Constitution the
right to property was removed from the list
of Fundamental Rights ?

(A) 72 (B) 74"

(C) 44t (D) 46%

-12-

O 0 D RO
63, AfE x 49, x —6, 4 TR A % wow fA T

Fdx e

{Ay 0,0 (B) 16.=16

(Cy 0,16 (D) =160
64, ita g2 ) feafa & g =1 gé

aci: b

(A) HTE B TE B 9 S

(B) ufazdl mfFaai & w0 § i o
Hifaae w9 w1 3N

1€ zwt Frva 5§ o ww H1 w0

(D) svifr g Rl o R w
o :

T x - 2, x, x + 3 Ui Hoft & wun fF 7

EdAlx®
(A) -6 (B) o
) 0

(C) 6
66, =i = wfafas ve vean e e @
#, Fowen gramy vra gt BB 7
U-lr "
TXT T J(B)
(C) 48 (D) TerEe

67. UfEF (PepsiCo) % adu CEO %14 & 7

(A) ==
& T At

(C) T T
(D) I o & i 78

68, wiEngm | form wvim g a9 & sfimn
witfer srferrrd 4wt A v R an 7
(A) 724 (B) 7474

ALk 444

65.

(D) 464
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72

73.

74.

Who won the w '
WOImEn s single tennis yigle at

the 2019 Wimbledon {_'h;sm.‘..u.._‘,h,.pﬁ ;
(A) Pera Kvitova

(B) Vinus Willinms

() Serena Williams

(D) Simona Halep

Langmuir 1sotherms holds at low pressure
but fails at

iA) Low temperature

{B) Intermediate pressure
(C)y High pressure

(D) None of these

L

2019 Fraeeg &
Voo ey sy
(A) e T

: SI2019 (13 (B
R B v 2w

B *ﬂ'-i'ﬂ, hh-Tq'D-l

-l T e

(D) e ey

0. ERE AR e s BT A

—— T o wa k|
1A) HE T
(B egad ==

(CY T T

(D) &8 & = 79

Chaudhary Devilal Herbal Park is situatcd | 71, herlt St veim e o et & o 7

in the district of S i

(A) Mewat (B) Panipat ] bl

(C) Rewari (D Yamunanagar (C) TETEl P TETE

Name of the lake which is famous for | 72. mgl?ﬁﬁﬁl‘qﬂﬂﬁ%ﬁ‘l qfirE He =

m

tourism in Karnal. . S

(A) Sultanpurlake (B} Taliyar lake [_g} W}ﬂiﬁ E a;milﬁ“mg‘mu

(C) Barkhal lake (D) Kama lake (C) =5

I |

Complete the series. 73, S T .

19, 23, 26, 30, 33, ? 19,23, 26,30, 33,7 oy

(A) 37 (B) 39 B 37 ==

) 31 (D) 35 () 31 :

=1,B=3
: roare 3 e Fe A=

If each of the letters in the English alphabet | - 74. f o a5 ) o T
is assigned odd numerical value beginning et} A INDIAN % st ST
A= I,B=3Mdsﬂm,whﬁtwillbeth=mta1 wﬂm'r

value of the letters of the word INDIAN ? O A]’/Eﬁ
(A) 89 (B) 3 C 08 D) 88
(C) 86 (D) &8 -

-13-
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32019 (1) (E1)
English Language

Choose the correct indirect form of the
following sentence from the given options -
75, He said 1o me “What are you reading” 7
(A) He asked me what I am reading
(B) He asked me whar I was reading ©
(C)  He said tha what am | reading
(D) He said that wha wits | reading

Choose the part of the following sentence
which has an error -

76.  Neither of the IWo men were very sirong.
(A) Neither of the two
(B} Of the two men were

(C) Of the two men
(D) Noemor

Select one word Substitute for the following

7. ‘Gain or profil aver and above one's salary
or wages'

{A) investment (B) surplus
(C) perquisite (D} turnover
Select the synonym of the waord in capital :

78, ZEAL
{A) brave (B) soft
(C) increase (D} enthusiasm

Fill'in the blanks with suitable preposition

79.  He was here last week,
(A} on (B) a
(C) in (D) not needed

Ellinli:hhnkswithWEhwwdﬁm
the optibns -

H_ We by a loud noise during last
night,

(A) were wokenup (B) were waking up
~ {E) woke up (D) are woken up
81. Mr. Miller doesn't like waiting,

~ (A) kept (B) is kept
(O keep (D) being kept
B2 You cun't siop me what I wani,
(A todo (B) that I do
(C) doing (D) do

EHTOTI O A o

83w ure TH T T EE

(A) #ET=A A
AB) UFATH N EgEE A
(C) T
(D) fE==a

B4, ‘TF U =y fom v’ ow T
ar= ¥ fav mrem 2

—_——

(A) Y=ET=H (B}
(C) wHar=a (D] Sl
B5. T +TW =
(A) THT9 (B) WY
(C) wiy (D) 5Ty
86. Az firfim |
(%) e (31) 7 1 7=
(@) fireen - (#1) 5 &1 e
(M) =3 [3) wreft ooy

(@) =m= A3 ol w =
(®) . — \ra} I ] Fe=
(=) (@) (m (=m) (z)
(A) ¥ + | <l '
B)3 =x a3 3 4
©=:m a1 3 g 4
Dz #® 3 % 3
87. ‘AqgE v a2
(A) =0 T2 AT Far w1
(B) 3 8 w7 51 )
(C) ¥ Tedt I7gel gl a4
(D) = weet w78 wan @1

B8, %T’tﬂm%%'asm fFn %
TEE R |
(A) wFd® (B) famd=
(C) = (D) =75 &
89. "ﬂﬁﬁﬂﬂ!’aaam___ﬁmmmh
(A) Tewrds
(B) &% 3t siwds =i
(C) Tais
7 g T Fyar 2
0. e
(A) fiw (B)
“c) fa (D) fim
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